Excellence — Equity — Empathy

_Time: 2 Hours ENGLISH MODEL PAPER (CLASS IX Marks: 100
SECTION “A”
MULTIPLE CHOICE QUESTIONS (MCQ'’s)
Q.No:1 Choose the correct answers for each from the given options.
1. Shah Abdul Latif invented a musical instrument called ____
a. Flute b. Tambooro c. Guitar d. Piano
2. Hurt no one so that no one may hurt
a. Me b. Him ¢. You d. None of these
3. O God, that I have conveyed your message to your
a. People b. Animals c. Creature d. None of these
4. The teacher assigned the class a project for the vacations.
a. Winter b. Summer c. Eid d. COVID
5. Ali goes to school bus.
a.To b. By c. At d. On
6. Many people go to a mystic to ask for the fulfillment of their
a. treatment b. wishes c. predictions d. none of these

7. Quaid-e-Azam’s message is
a. Unity, Faith and Determination b. Unity, Faith and Discipline

c. Unity, Faith and Steadfastness d. Unity, Determination and Steadfastness
8, The old namc of Mcdina was
a. Madinatul Nabi b. Yaman ¢ Yathrib d. Hudebia
9, 1 could not swim when I was a child butl ___ swimnow.
a, may b. could ¢. had d. can
10. Allamalgbal is known as _
a. Poet of the East b. Poet of the West
c. Poet of the Asia d. Poet of the Muslims
11. In 1905, Allamalgbal went for his study to
a. Japan b. Spain ¢. Germany d. London
12. Shah Abdul LatifBhitai is known as
a. Sarmast b. Qalandar c. LalLatif d. None of these
13. In 1908, Allamalgbal was awardedPh.D, degree by the
a. Oxford University b. Munich University
¢. Cambridge University d. Punjab University
14. The principal of our school treats every one with .
a. Rudeness b. Kindness c. Cruelness d. None of these
15. In 1926, Allamalgbal was elected as member of the
a. Punjab Legislative Council b. All India Muslim League
¢. Bombay Legislative Council d. All India Congress
16. Allamalgbal delivered his Allahabad address in
a. 1926 b. 1929 c. 1930 d. 1938
17. AllamIgbal died before the creation of Pakistan
a. 9 years b.8 years c. 7 years d. 6 years
18. Quaid e Azam was one of the most dynamic personalities of
a. South Asia b. Middle East c. Europe d. None of these
19. The Quaid e Azam pleaded the case of i
a. a businessman b. neighbour c. the muslim world d. a separate homeland
20. Quaid e Azam was elected the first president of the Constituent Assembly of Pakistan in
a.1930 b. 1937 c. 1945 d. 1947 o
21. Our culture has been passed on to us through i
a. Teachers b. Oral traditions  c¢. Philosophers ~ d. None of these
22. Malaria diseaseis spread by
a. Flies b. Mosquitoes ¢. Dogs d. Rats
23. Malaria is recognized through _
a. Lower fever  b. Moderate fever  c. High fever d. Non of these
24. The'train moved out of the station as soon as the guard gave the
a. Signal b. Caution c. Approval d. None of these
25. A mound of sand is called Bhit in language
a. Urdu b. Arabic c. Persian d. Sindhi

Scanned with CamScanner



26. S .
6 :(1“;5‘““;“ ‘b‘lmh Kalhoro built a shrine over the grave of :
- A.“ acha Punlmstb. Shah Abdul Latif ¢. QalandarLalShahbaz d. Shah kareem
. mankind is from Adam and Adam was ereated from

2h :I Illeulvcl} b. Dust ¢ Fire d. Stone
N 1'111\1 Latifis known as Sindhi sufi scholar, mystic snint and ______
29 e cacher b. Poct ¢. Politicinn d. Landlord
. The ('lhcvotccs of Shah Bhitai celebrate his Urs cvery yearon
a l:‘ Safar b, 14"Ramadhan ¢, 27" Rajab (. None of these
30. Fatima Jinnah left dentistry to live with her brother and support
a. Her b, Him ¢ is d. Them
31. Allamalqbal took an active part in
a. Politices b. Music c. Business d. None of these
32, Pakistan Resolution was passed on 23" March 19400
a. Lahore b. Karachi ¢. Peshawar d. Islamabad
33. was Quaid ¢ Azam’s younger sister.
a. Shaistalkramullhah b, JahanAra c. Fatima Jinnah  d. Bi-Aman
34, Fatima Jinnah helped Quaid ¢ Azam in the struggle for establishmentof
a, College b. University c. Army . Pakistan

35. Begum Ra’ana worked as an honorary sceretary nnd typist to her _____l,lnqunt
Ali khan,

a. Husband b. Cousin b. Brother  d. Uncle
36. Begum Ra‘ana is the founder of the All Women Association
a. Sindh b. India ¢. Pakistan d. None of these

37. Begum JahanAraShahnawaz represented Muslim women at the three Round Table
Conferences held in
a. Karachi b. Lahore ¢. Peshawer d. London

38. Begum Jahan Ara Shahnawaz travelled widely and explained to the people of other

a. Religions b. Languages ¢. Countries d. None of these
39. Professor Anitn Ghulam Ali was a popular newscaster of the news,

a. Sindhi b. Urdu ¢. Pashto d. English
40. Professor Anita Ghulam Ali was a well known of her time.

a. Politician b. Teacher ¢. Social worker d. None of these
41, BilquisBanoEdhiis trained as a professional

a. Teacher b. Doctor ¢. Nurse d. None of these
42. The event of migration from Makkah to Madina is known as

a. Hijra b. Umrah c. Hajj d. None of these
43. Allamalgbal became Professor of Arabic at the Oriental College

a. Sialkot b. Peshawar ¢. Lahore d. None of these
44. Shah Latif left his home and lived on a mound at some distance from his

a. Town b. Village c. City d. None of these
45. Shah Latif was born at n small village called

a. HalaPurana b, HalaNew c. Halallaveli d. None of these
46. Shah Latifs first teacher was

2. AkhundNoor Muhammad b. AkhundAzizullah

¢. Haji Ahmed Mallah d. MolanaUbaidullah
47. Shah Latif married with

a. RugiyaBano b, BibiSaida ¢. BibiRahmat d. BibiZakiya
48, collected details about early life of Shah Latif

a, Dr. UmarDaudpotob b. MirzaQalcechBaige

¢. Dr. NabiBuxBalochd (. None of these
49, Shah Latif had in-depth knowledge of the Holy Quran and the

a, Poctry b. Hadiths ¢. Religion d. None of these
50, Shah Latif would spend much of his time sitting on the bank of

a. River b. Canal ¢. Lake . Sea
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BOARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD
Excellence - Equity = Empathy
ENGLISH MODEL PAPER (CLASS 1X) Marks: 100
Short Questions

_Time: 2 Houry

NOTE: Attempt any five questions. Each question carries 06 marks. Marks 30
Q.No: 2 What do you know about Bilquis Bano Edhi?
Q.No: 3 What does the last sermon teach us?
Q.No: 4 Why is Miss Fatima Jinnah called Mader e Millat?
Q.No: § Why is Shah Latif Called the “Saint of Bhit"?
Q.No: 6 When and where was Allamalgbal born?
Q.No: 7 What are the most common diseases caused by mosquitoes?
Q.No: 8 Who were the famous women in Pakistan movement?
SECTION C
Long Answers
NOTE: Answer any Two questions. Each question carries 10 Marks, Marks 20
Q.No: 9 Write a paragraph on any one of the following
a. My School b. My Country c. My Hobby
Q.No: 10 Write an application to the Head Master/Principal of your school requesting

him / her for one week leave.
OR
Write a letter to your friend inviting him to attend your birthday party.

Q.No: 11 Translate into English. Do any five.
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BOARD OF INTERMEDIATE & SECONDRY EDUCATION, HYDERABAD SINDH

ixcellence — Equity — Empathy

Time: 2 Hours MATHEMATICS MODEL PAPER (CLASS IX) Marks: 75
(Condensed Syllabus)
SECTION “A”
MULTIPLE CHOICE QUESTIONS (MCQs) Marks 37
Q1: Choose the correct answer,
(i) {0,1,2,3,...} is the st of
. (a) Natural numbers (b) Integers (c) Whole numbers (d) Odd numbers
(i1) Set of all real numbers between 1 and 2 is .
(a) Empty set (b) Infinite set (c) Finite set (d) None of these
(iii) V2 is .number.
(a) natural (b) even (c) rational (d) irrational
1 2 |
) x——=3 x'4—=
(iv) If X  then x ;
(@)7 (b)9 (¢) 1 (d) 15
2
v) X +xyz+4 ig 4 polynomial of degree ________ .
(a) 2 (b)3 (c)4 (d)8
i) ¥ i .
(ﬂ)(y-z)(y’+y2+z’) (b)(y-z)(y’+2yz+zz)
(c)(y+z)(y2+2yz+z’) (d)(y+z)(y2-yz+z’)
(vii)  One and only onc can pass through three non-collinear points.
(a) Line (b) Planc (¢) Line segment (d) Ray
(viii)  Supplementof 70" is .
(a) 20" by =70° () 130° (4 110°
(ix) Which of the following is not a convex sct.
(a) Line (b) Line segment (c) Circle (d) Plane
(x) A triangle having no sides congruent,, is called triangle
(a) Isosceles (b) Scalene (c) Equilateral (d) Right
(xi) If a transversal intersects two parallel lines Jthe angles are congruent.
(a) Interior (b) Exterior (c) Adjacent (d) Alternate .
(xii)  Sum of all angles of atriangle is .
(2) 360° (b) 180" (c) 90° () 40°
(xiii) (5x-9)(5x+9)= .
(@) 5x* -81 (b)Sx* +81 () 25x* -81 @)25x +81
(xiv)  The characteristic of log 56.341is ________.
(a) 0 (b) 1 (c)2 (d)3
(xv)  The natural logarithm hasthebase .
(a) 7w (b) ¢ ()10 (d)o
(x-7) =
(xvi) 4 .
@x -y =3xy (X +y' =3xy
©x +y =3xy(x-y) @Wx’ -y =3xy(x-y)
(xvii) A parallelogram whose cach angle is right angle , is called
(a) Rhombus (b) Rectangle (¢) Trapezoid (d) None of these
(xviii) lines can pass through a point.
(a) Infinite (b) Finite (c) One (d) No
. +5,1+y)=
(xix) If (x+5,1+y ) (7, z)thcn values of x and y are respectively.
(a)land 3 (b)2and | (c)2and -1 (d) none of these
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(xx) The point (—2, 7)

e is located in quadrant.
&) T (@ First (b) Second (c) Third (d) Fourth
o 1¢ ordinate of any point on x-axis is always .
(xxi (a) Non-zero (b) Zero (c) Negative (d) Positive
Xxit) is multiplicative identity in set of real numbers.
(@)1 (b) 0 (c) -1 (d) None of these
(xxiii) The expression X' x5y-3 is _
(a) Monomial (b) Trinomial (c) Binomial (d) All of these
(XXiv)  The H.C.F of 857 gna 457 s _
() 6x°y° (b) 6x%y? ) 2x*)° (d) 4x*y*
1 01\
(xxv) \:0 L is . matrix.
_ (a) Square (b) Scalar (c) Unit (d) All of these
(xxvi) The matrix A is called --------- matrix if its determinant is zero.
(a) Rectangular (b) Square (c) Singular (d) Non-singular
cowvii)  (FF W =(x-y)= '
(@) 2(x+ )’ (®) x* +y° (© 2(x* +¥°) (d) 4xy
(xxviii) The order of the matrix [0 O] is .
(a) 0x0 (b) 1x2 (c) 2x1 (d) 1x1
(xxix) If two adjacent angles are supplementary then their non-common arms are :
(a) Coincident (b) Collinear (c) Non-collinear (d) Perpendicular
(xxx)  The sum of two complementary angles is equal to degrees.
(a) 90 (b) 180 (c) 360 (d) 100
(xxxi) ‘/5 is surd of order ;
(a) 1 (b)2 ()3 (d) None of these
\J256 —+/144
(xxxii) JI—G- :
(a) 10 (b) 5 (c) 1 (d) none of these
(xxxii)y V129 = .
(a) 50 (b) 25 (c) 15 d)S5s
2x* +2y°
(xxxiv) Factors of Y are .
(@) (x+ ) =xy+ ") (b) 2(x+ Y)(** = xy+y*)
© (x=)"+xy+y7) (d)2(x=Y)(x* +ay+ %)
(xxxv) If log, x=6 then X is equal to .
(a) 128 (b) 64 (c) 32 (d) 16
(xxxvi) In aright triangle , the acute angles are angles.
(a) Supplementary (b) Alternate (c) Complementary (d)
Corresponding
(xxxvii) The sum of two supplementary angles is equal to degrees
(a) 90 (b) 180 (c) 360 (d) 100
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BOAR N
D OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD

. Excellence — Equity — Empathy

Time: quily paiiy

ime: 2 Hours MATHEMATICS MODEL PAPER CLASS: IX Marks: 75
SECTION B Marks 24

NOTE:

Attempt any SIX from the following .Each question carries 4 marks.

Q.2 Ifa,b represent elements of z*, find the domain and range of the relation

R={(a,b)|2a+b=10}.
Q3 If U={1,23,..,20},4={1,3,5,..,19}and B={2,4,6,..,20} then prove any one of

the De Morgan’s Laws.

Q4 Ifx= J5+2 then find the value of x* +L4.
X

/ 2
Q.5 Find the value of 4331 :“556)(9(;.2) using logarithms.

Q.6 Find the value of 8ab(a* +b*)when a+b=5 and a-b=-5.

Q.7 What should be subtracted from 2x' +3x* —x* -1 so that it becomes exactly
divisible by x-2 ?

Q.8 Find the value of 27x° ——17 when 3x-—l= 2.
X X

Q.9 Factorize any two : (1) x4 (i) 6x% +11x-10 (iii)2x* ~250y".

SECTION C Marks 14
LONG QUESTIONS

Note: Attempt any ONE (a & b) from the following,
Q.10 (b) Define any two of the following with figures.
(i) Line segment (i) Adjacent angles (iii) Ray
(b)  Apply Cramer’s Rule to solve the system of equations :

4x=-3y=1
S5x+2y=3

Q.13 (a) If two lines intersect , the vertical angles so formed are congruent.

Prove it.

3
(b)y If A=[l g] then find 4™ and verify that 44" =1,
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BOARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD
- Excellence — Equity — Empathy

Time: 2 Hours BIOLOGY MODEL PAPER (CLASS 1X)

Condensed syllabus
SECTION-A

MULTIPLE CHOICE QUESTIONS (MCQ’s) Marks 30

Marks: 60

Q.NO: 1 Choose the correct answers for each from the given options.

(1)  Study of remote past organic life, with the help of fossilsis
(a) Taxonomy (b) Entomology (c) Palacontology (d) Histology

(2) Similar cells combine together to form

(a) Organ (b) Tissue (c) System (d) Organ System
(3) The Scientific name of frog is
(a) Palacon (b) Rana tigrina (c) Periplaneta (d) Pheretima

(4) Biological method involves all of the following except
(a) Data Collection  (b) Observation (c) Proportion  (d) Experiment
(5) Quantitative observation is the use of
(a) Senses (b) Guess (¢) Equipment (d) Ratio
(6) In five Kingdom system viruses are placed in

(a) Plantae (b) Monera (c) Protista (d) None of these
(7) Members of Kingdom have cell wall and heterotrophic are
(a) Monera (b) Protista (¢) Fungi (d) Plantae

(8) Which process allows movement in and out of cell ?

(a) Diffusion  (b) Osmosis  (c) Active transport  (d) None of these
(9) Stage of mitosis in which chromatids reach the poles and their movement

ceases is
(a) Prophase  (b) Metaphase (¢) Telophase (d) Anaphase
(10) Fundamental molecule produced during photosynthesis is
(a) Amino acid (b) Glucose (c) Fatty acid (d) Nucleotide

(11) In human heart, blood returning from lungs first drains into
(a) Left atrium  (b) Left ventricle (¢) Right atrium  (d) Right ventricle

(12) Which of these are involved in clotting of blood ?

(a) Platelets (b) Haemoglobin  (c) Albumin (d) Globulin
(13) Deficiency of vitamin K causes _

(a) Rickets (b) Scurvy (¢) Anaemia (d) Beriberi

(14) Period of rapid growth and development is called

(a) Childhood  (b) Adult hood (¢) Adolescence (d) Bothaandb
(15) All are sources of calcium except

(a) Red meat  (b) Green leafy vegetables  (c) Broccoli  (d) Nuts
(16) Fundamental molecule produced in photosynthesis is

(a) Glucose (b) Amino acid (b) Fatty acid (d) Nucleotide
(17) Loss of electron and proton is called

(a) Oxidation reaction (b) Reduction reaction

(¢) Redox reaction (d) All of these
(18) Splitting of water molecules in presence of light is called _

(a) Glycolysis  (b) Hydrolysis  (c) Photolysis  (d) None of these
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(22)

(23)
(24)

(25)

(26)
@7)
(28)
(29)

(30)

T—_—
Enzymes are in nature
(a) Steroid (b) Protein (¢) Lipid (d) Carbohydrate
Plastids are of types.
(a) Two  (b) Four (C) Three (d) Five
Function of the rough endoplasmic reticulum is
(1) Aerobic respiration (b) Intra cellular digestion
(¢) Synthesis of Proteins (d) Synthesis of steroids
Which one is responsible for high resolution of the electron microscope-------- ?
(a) High magnification (b) short wavelength of electron beam
(¢) Use of heavy metals strain (d) Very thin section

Movement of organic materials takes place through
(a) Xylem  (b) Vessels  (c) Tracheids (d) Phloem
Which of these are involved in blood clotting 4
(a) Platelets  (b) Haemoglobin (c) Albumin  (d) Globulin
Root hairs are most important to a plant because they
(a)Store Starch (b) Contain xylem (c) [ncrease surface area for absorption
(d) Provide habitat for nitrogen fixing bacteria
Part of root between epidermis and endodermis is called
(a) Xylem (b) Root hair  (c¢) Phloem (d) Cortex

___gas is the by-product of photosynthesis
(a) Carbon dioxide  (b) Nitrogen oxide (¢) Oxygen (d) Hydrogen
Biodiversity is effected with
(a) Pollution  (b) Deforestation  (c) Over hunting (d) All of these
In data organization, which method is mostly useful ¢
(a) Table (b) Graph (c) Ratio (d) Both a and b
Rickets disease develop due to the deficiency of vitamin
a)A (b B e C (d D
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OARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD
Excellence — Equity — Empathy
BIOLOGY MODEL PAPER (CLASS IX) Marks: 60
Condensed syllabus
SECTION-B

SHORT ANSWERS Marks 18

NOTE Answer any SIX of the following_questions. Each question carries 03 marks.

Time: 2 Hours

QNO:2  What is socio-biology ?

OQNO:3 Why Biology is named as multidimensional subject ?
QNO:4 Why experiment is necessary for theory ?

QNO:5 What is binomial nomenclature ?

QNO:6 Why mitochondria is also called power house of cell ?
QNO:7 Describe prophase.

QNO:8 Why mitosis is necessary for growth?

QNO:9 What are the prokaryotic cells ?

ONO:10 Why enzymes are specific in nature?

SECTION-C

DESCRIPTIVE ANSWERS Marks 12
NOTE: Answer any two of the following questions Each question carry 06 marks
Q.NO.11  What is photosynthesis? Describe phases of photosynthesis.

OQNO:12  Describe in detail five Kingdom classification system.

QONO:13  Write a detail note on Animal Tissues.
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BOARD OF lNTERx\lEDlATE & SECONDARY EDUCATION, HYDERABAD

Excellence — Equity — — Empathy
Mﬂ ¢ DELPAPER CLASS:IX ___ Marks: 30

SECTION “A”
MULTIPLE CHOICE QUESTIONS (MCQ’s)

Q.No:1 Choose the correct answers for each from ttLe_qi\l_ez_g_QE"i_o"_&

1.  Tow many moles of sodium are present in 46g of substance?

(a) 1.8 moles (b) 2.3 moles (c) 2 moles (d) 1mole

2. Those Acids which contains one acidic hydrogen are called:

() Mono-protic (b) Di-protic (¢) Tri-protic (d) polyprotic
3.  Mg(OH)Clis known as:

(a) Acidic salt (b) Basic salt (¢) Neutral salt (d) Normal salt
4.  The formula of potassium chlorate:

(a) KCO, (b) KCIO; (c) KCl (d) NaHCO;
5. The number of moles of solute dissolved in one dm’ is called:

(a) Molality (b) Avogadro’s number (c) Morality (d) Mole

6. The shared pair of electrons which links the atoms in 2 molecule is

known as:
(a) Electro-valent bond (b) Covalent bond
(c) Co-ordinate covalent bond (d) chemical bond

7. The only liquid metals:
(a) Molybdenum (b) Gold (c) Mercury (d) Bromine

8.  To which family Gabelongs:
(a) Boron (b) Carbon (¢) Nitrogen (d) Fluorine
9.  Lothar Mayer’s curve included about elements:
(a) Thirty (b) Forty (c) Fifty six (d) Sixty two
10. The Most reactive metals:
(2) Na (b) Fe (c) Cu (d) Ca
11. The PH of 0.01 M of HCl is:
(a)2 M1 ©3 (d) None of these

12. Faraday’s First law of electrolysis is directly proportional to the
amount of substance that deposited at any electrode:

(a) Current (b) Weight (¢) both of these (d) None of these

13. Which type of bond is present in Chlorine molecule:

(a) polar covalent (b) non-polar cov alent (c) Electrovalent (d) Dative bond.
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16.

17.

18.

19.

20,

21.

22,

23,

24,

25.

206.

27.

28.

29,

30.

B, 4

Robert Brown used which powder for explaining the movement of
particles:
(n) Sulphur (b) Phosphorus (¢) Silicon (d) Magnesium

Fhe one sided sharing of electrons is known as:
(n) Datlve hond (h) Co-lonle (¢) Co-ordinate covalent (d) All of these

I'hose substance which conduct electricity are Knowin as:

(n) Electrolytes (b) non-¢lectrolytes (c) Both of these () None of these

;0" Is called:
(n) Nydrontum fon  (b) 11 is Acceptor  (€) O is Donor (d) Al of these.

60 ¢ of NaOIl dissolved in one litre is known as:

() 1.5 M solution  (h)2 M solution (¢)2.5M solution  (d) None of these.
Bitter Taste is representation of:

(n) Acld (b) Base (c) Salt (d) All of these
Nucleus is made up dense particle explained by:

(n) Rutherford (b) Bohr (c) Dalton (d) Al-Razi

Acids react’s with base to neutralize and form:

(n) snlt (b) Water (¢) salt and water (d) None of these

Gascous Directly converted into solid is:

(a) Desublimation  (b) De-position (¢) Sublimation (d) Botha & b

In combustion reaction we burn methane it forms:

(n) carbon dioxide  (b) water (c) Hydrogen (d) Cabondioxide and water

Which type of bond is indicated by arrow:

(a) Dative (b) Tonic Bond (c) Electro-valent  (d) Covalent

How many electron Ag losses in AgNO’:

(a) one (b) two (c) three (d) four

W= ZAt is mathematical representation for:

(a) Faraday’s first law (b) Faraday’s 2" law (c) Both of these (d) none of these

Water from different sources always in same proportion in known as:

(a) Dalton’s Law  (b) Lavosicr (c) Faraday’s law  (d) Nonc of these.

What is range of weak acids in PII scale:

) 3tod (h)3to5 (c)l1tod @2tod
The Formula of sugar is:

() Cial120y2 (b) Cy21124012 (c) Cy 1220y (1) C2H220n
The formula of Chloroform:

(n) CHCly (b) CHI;CI (¢) CH,Cly (d) All of these
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BOARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD
- Excellence — Equity — Empath
- Time: 30 Minutes cu}:M1S'|'ﬁ;.';c§101%;?1’1\Pﬁl;:C{A,SS=,I&._-*M _ Marks: 30
SECTION “B”
SHORT QUESTIONS
NOTE: Attempt any SIX guestions each question carry 3 marks. 18
Q.No: 2 Define law of Multiple proportion with examples”
().1\{():3 Explain main point of Rutherford Atomic Model?
Q.No: 4 What is Brownian Movement ?

Q.No:5 Explain Covalent Bond with its types? _ .
Q.No:6 Write definition of Metals, Non-Metals and Metalloid With
examples?

Q.No:7 What would be the Py; of 0.001 M solution of HCI?

Q.No:8 Explain Faraday’s First law of electrolysis?
Q.No:9 Calculate the formula mass of given:

(a) KNO; (b) Ci2H2:01,

(¢) CHCI3 (d) MgCl,

Q.No:10  Balance the Equation by inspection method.
i. NH,+0,—NO+H,0

ii. CaCO,+ HC| ——CaCl,+ H 0 +CO,
iii. KNO,—KNO,+0,
iv.  NaHCO,—— Na,CO,+ H,0+CO,

SECTION “C”
LONG QUESTIONS

NOTE: Attempt any TWO questions each question carry 6 marks. M2

Q.No:11  (A) Define Chemical Reaction and its types with suitable
examples?
(B) Write at least four strong acids, weak acids, strong base and
weak base?
Q.No:12  (A) Differentiate between Covalent bond and Co-ordinate
Covalent Bond?
(B) Calculate the morality of solution containing 16gm glucose
per 300 mL solution.
Q.No:13  (A) Define the role of chemistry in our society?
(B) Calculate the amount of silver deposited when 10 ampere of

current is passed for 50 minutes through a solution of
AgNO;. (Z of Ag=0.00118 g/C)
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BOARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD

Excellence — Equity — Empathy
Time: 2 Hours PHYSICS MODEL PAPER (CLASS 1X) Marks: 60

SECTION A
MULTIPLE CHOICE QUESTIONS (MCQs)

Q.No: 1 1) Attempt all questions. Each question carries 1 mark, '
(2)  Write answer in full on the first gpecified_page of answer copy with

choose (A.B.C & D)

1) Ibn-al-Haitham contributed toward Physics.

(a) Nuclear (b) Oceanographic  (c) Optical (d) Thermal
(i)  Dr. Abdus Salam was awarded Nobel Prize for his work on

(a) Electronics (b) Radiation

(¢) Grand Unification Theory (d) Gravitatian,
(ili)  Pin hole camera was invented by .

(a) Al-Beruni. (b) ibn-al-Haitham  (c) Al- Kindi (d) Al-Khwarzmi.
@iv) 10 second is called

(a) Decisecond (b) Millisecond (¢) Micrrosecond (d) Nanosecond
W) One meter is equal to

(a) 10* mm (b) 10* mm (c) 10*mm (d) 10° mm
(vi)  The standard metre is made of

(a) Platinium and Coper (b) Iron and copper

() Iran and iridium (d) Platinium and iridium

(vii) Least count of vernier calipers is

(a) Imm (b) 0.1mm (c) .0lmm (d) 10mm

(vii) If the velocity of a body changes equally in equal interval of time , its acceleration is

called___ .

(a) Average (b) Uniform (c) Variable (d) Constant
(ix) Machinesaredividedinto____ part.

(a) Two (b) three (c) four (d) Five
(xX)  Thevalue of g is :

(a) 8.9 m/s (b) 9.8 m/s> (c) 8.8 m/s? (d) 7.8 m/s?
(xi) Themotionof pendulumis .

(a) Rolatory (b)Vibratory (c) Translatory (d) Uniform
(xii) If the force acting on a body is double, then the acceleration produced is

(@)% (b) ¥4 (c) Double (d) Quadrupled
(xiii) The S.1 unit of force is;

(a) Meter (b) ms™! (c)Kg (d) Newton
(xiv) Which is the best approximation of the weight of an object of man 800 grams?

(a) 88N (b) 80N (c)0.8N (d)8N

(xv)  The unit of coefficient of friction is
(a) Newton (b) Kilogram (¢) Meter (d) None

Scanned with CamScanner



// T————

(xvi) is a Vector quantity.

(a) Work (b) Density (¢) Velocity (d) Temperature
(xvi) Inaright angled triangle the side opposite to the right angle is called

(a) Base (b) Perpendicular  (c) Hypotenuse (d) None of these
(xviii) If Fx and Fy are rectangular component of a force F than tan0

(a) % (b) ’;—i (c) Fx + Fy (d) Fx-Fy
(xix) The turning effect of a force about an axis is

(a) Force (b) Rotation (c) Torque (d) Momentum
(xx)  Clockwise torque is considered as

(a) Positive torque  (b) Negative torque  (c) Unit torque (d) Zero torque
(xxi) A body at rest or moves with uniform velocity is said to be

(a) Motion (b) Equilibrium (c) Static equilibrium (d)Dynamic quilibrium
(xxii) The first condition of equilibrium states that__.

(2) 2, P=0 (b) X J=0 (c) 2 F=0 (d) both (b) & (¢)
(xxiii) The mass of earth canbe fineby _______law of gravitation .

(a) Boyle’s (b) Newton (c) Charles (d) Coulomb’s

(xxiv) If the speed of a body moving in a circle is doubled its centripetal acceleration becomes

(a) Single (b) Twice (c) Four times (d) Eight time
(xxv) The value of G is

(a) 6.67x10™ N-m*/Kg? (b) 6.67x10™"" N-m¥/Kg?

() 6.67x10"°N-m*/Kg? (d) 6.67%10® N-m¥/Kg’
(xxvi) One Joule is equal to

(@) 1 N.S (b) 1lb.m (¢) 1.Nm (d) IKg
(xxvii) Heat is a form of __.

(a) Work (b) Energy (c) Wave (d) Sound
(xxviii)An object appears lighter in water because of one of the properties of water

(a) Buoyancy (b) Surface tension  (c) Viscosity (d) Pressure
(xxix) Rendom motion of molecule in a fluid was first discovered by:

(a) Robert Boyle (b) Robert Brown  (c) Newton (d) Pascal

(xxx) The temperature of substance changes from -20° C to 20° C . What is the temperature
charge in Kelvin’s scale?

@ 0°K (b)20K  (cH0K (@293K
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BOARD OF INTERMEDIATE & S

N Excell = ity —
Time: 2 Hours PHYSICS x\ilglemftgglzgzgfgs IX) Marks: 60
SECTION A 18 Marks
SHORT ANSWER
NOTE:

Attempt anv SIX of the following question. Each carries 03 marks.

Q.No:2 Describe few branches of physics.
Q.No:3  What are fundamental and devised units?
Q.No:4  Prove that vf = vi?

QNo:5 Differentiate between mass and weight.

QNo:6 The mass of an electrons is 9.11 x103' Kg. Convert it in gm, milligram and microgram.
Q.No:7 Explain scalar and vector quantities.

Q.No:8 What is centripetal force.

QNo:9 What is energy. Describe different form of energy.

Q.No:10 What do you understand by the term elasticity?

Q.No:11 How much work is done to displace horizontally a body 40m by a force of 200N whose

angle with the horizontal is 30°7

SECTION “C”
(LONG ANSWER)

NOTE: Answer any TWO of the following questions. Each carries 6 marks. (12 Marks)

Q.No:12 (a) Define force: How does second law of motion help us measuring of force.

(b) A car starts from rest and after 20 second its velocity becomes 108Kms™. Find the

acceleration of car.
Q.No:13 (a) State and explain Newton’s law of gravitation.
(b) At what speed must an object travel in a circle of radius 2m to experience a
Centripetal acceleratun of 9.8ms™.
Q.No:14 Write notes on any One of the following:
(i) Anomalous enpansoon of water.
(ii) Resolution of vector

(iii) Pascal’s Law
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BOARD OF INTERMEDIATE & SENDARY EDUCATION, HYDERABAD

Excellence — Equity — Empathy

Time: 2 Hours COMPUTER SCIENCE MODEL PAPER (CLASS: 1X) Marks: 60
SECTION A
(CondensedSyllabus)  MULTIPLE CHOICE QUESTIONS (MCQs) Min: 30

Q.No.1 Choose the correct answer.
(i)  The basic operations performed by a computer are

A. Arithmetic operations B. Logical operations
C. Data processing D. All the above
(i) Both physical and logical addresses are
A. Different B. Unique
C. Permanent D. Temporary
(iii) All HTML documents start with
A. <head> tag B. <body> tag
C. <html> tag D. </html> tag
(iv) The most common text entering device is
A. Light pen B. Joystick
C. Keyboard D. Mouse
(v) 1 Gigabyte (GB) is equal to:
A. 1024 bits B. 1000 megabytes
C. 1024 kilobytes D. 1024 megabytes
(vi) Analog computer works on the supply of:
A. Continuous electrical pulses B. Pulses but not continuous
C. Magnetic strength D. None of the above
(vii) The computer that processer both analog and digital data is called
A. Analog computer B. Digital computer
0 Hybrid computer D. Mainframe computer
(viii) Graphical User Interface(GUI) was developed in
A. Second generation B. fourth generation
C. Mechanical era D. Electro- mechanical era
(ix) The first generation computers were programmed by:
A. Assembly language B. Machine language
< Source code D. Object code
(x) Fifth generation computers were based on
A. Programming Intelligence B. Artificial Intelligence
C. System Knowledge D. Very large Scale Integration
(xi) Any dataor instruction entered into the memory of computer is considered
as
A. Storage B. Output
c. Input D. Information
(xii) MICR stands for
A. Magnetic Ink Code Reader B. Magnetic Ink Character Recognition.
C. Magnetic Ink Cases Reader D. None of the above
(xiii) The most powerful, fastest and largest computers are:
A. Microcomputers B. Mainframe
C. Minicomputers D. Supercomputers
(xiv) Desktops, laptops, tablets and smart phones are examples of
A. Special purpose computers B. General purpose computers
< Analog computers D. Hybrid Computers
(xv) :An electric path on which data is sent and received by different components
15
A. Register B. Port
C. Bus D.  Clock
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(xvi) The programme that is generally installed to manage and maintain overall
computer resource is

A. Operating system B. Utility program
. C. Language translator D. Device driver
(xvii) Microsoft Word is an example of
A. An operating system B.  Processing device
C.  Application software D.  System software
(xviii) Which of the following is not paper size
A. legal B. Executive
C. Landscape D. A3
(xix) A process of checking computer and starting operating system as
A. File management B. Booting
C. Resource management L), Memory management
(xx) Computer spreadsheet cell is highlighted with a heavy border is a
A. Active cell B. Cell containing a formula
C. Locked cell D. Cell
(xxi) Selecting text means, selecting:
A. a word B. an entire sentence
C. whole document D. any of the above
(xxii) Which is not in MS word?
A. Italic B. Magnetic tool
c. Font D. Bold
(xxiii)In excel columns are labeled as:
A. A, B, C, etc. B. 1, 2, 3, etc.
C. Al, A2, A3, etc. D. $AS1, $AS2, etc.
(xxiv) Which of the following is not a type of page margin?
A.  Right B. Left
C. Top D. Center
(xxv) An intermediate storage area, which is available inside microprocessor is
A. Cache B. Register
C. Clock D. Secondary storage
(xxvi) Which menu in MS Word can be used to change character size and
typeface?
A. View B. Tools
C. Format D. Data
(xxvii) The intersection of a column and a row on a worksheet is called
A. Address B. Column
C. Value D. Cell
(xxviii) Formulae in MS Excel always start with.
A. An() sign B. An equal sign
C. A plus sign D. A > sign
(xxix) A programme enables user to interact with computer is called
A. My document B. Start menu
C. Desktop D. Interface
(xxx) The software is used to format a document is:
A. MS Word B. MS Excel

G MS Power Point D. MS Access
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BOARD OF INTERMEDIATE & SECONDARY EDUCATION, HYDERABAD
‘ Excellence — Equity — Empathy
Time: 2 Hours COMPUTER SCIENCE MODEL PAPER (CLASS: IX) Marks: 60
(Condensed Syllabus) SHO%ONS Marks: 18

NOTE: Attem t any SIX questions and each guestion carries 3 marks.
Q.2. Discuss First generation of computers.

Q.3. Differentiate between Data Rate and Baud Rate.
Q.4. List the functions of an operating system? Write briefly about any one.
Q.5. Discuss margins, orientation and paper size options in page setup group.
Q.6. Define importance of computer security.
Q.7. Differentiate between Analog and Digital Signals.
Q.8. Define properties of a good communication system.
Q.9. Differentiate between physical address and logical address.
Q.10. Define the following terms:
A. Website B. Web Browser C. Search Engine

SECTION C
LONG QUESTIONS Marks: 12

NOTE: Attempt any TWO questions and each question carries 6 marks.
Q.11. What is Database? Discuss any two basic components of DBMS.

Q.12. What is Computer Network? Define any two types of Network.
Q.13. What is Topology? Explain any two types of topology.
Q.14. Write short notes on any two of the following:

A) Motherboard B) Microprocessor C) Hybrid Computers
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